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20,000,000& * 98.92/100
Wx0E =2 U (F2UEN)

30,000,000& = 98.92/100

sts AMEOIS H2t £
20,000,000 * 98.92/100
sts =02 94 &X

30,000,000& = 98.92/100

2ol0tE 21 HUI(FUEH)

30,000,000 * 98.92/100
TOE R FH(FUEA)
20,000,000 * 98.92/100
TOIS W22 HUI(ZQEN)
25,000,000 * 98.92/100
ZOIS B2 FHI(FDEN)
50,000,000 * 98.92/100
S0 A HUH(FQUHEOH)
50,000,000 * 98.92/100

19,784

19,784

29,676

39,568

29,676

19,784

9,892

19,784

29,676

29,676

29,676

19,784
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29,676
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19,784
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49,460
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O €8 S0 =2 FH(=g&A)
20,000,000% * 98.92/100 19,784
O g8 AR08 =2 FH(=gEA)
20,000,000 * 98.92/100 19,784
O &€¢ DIXZ0I2 =2 FH(=2EA)
30,000,000 * 98.92/100 29,676
O EY U=its =2 JH(=UEA)
40,000,000 * 98.92/100 39,568
O gd¥ HXZts ?*H FH(F2EN)
40,000,000 * 98.92/100 39,568
O &8 W&ot 71 EH(=g&A)
50,000,000% * 98.92/100 49,460
O gd X0t #*H BH(F2&EA)
40,000,000 * 98.92/100 39,568
O g8 AZ02 =2 FH(=g&A)
30,000,000& * 98.92/100 29,676
O g9 50t Hed e ax(FUEH)
20,000,000 * 98.92/100 19,784
O g% dxits &dH =4
40,000,000 * 98.92/100 39,568
O 3¥H JAOE =2 HUI(FLUEOH)
30,000,000 * 98.92/100 29,676
O 3&EH REOS =2 FHI(FUEH)
30,000,000 = 98.92/100 29,676
O st&d3d MZ0ts €H ZX(=EA)
40,000,000 * 98.92/100 39,568
O &M 3tents =2 HUI(F2UEH)
20,000,000 = 98.92/100 19,784
O 3EH A0S =2 Ul (F2UEOH)
20,000,000% * 98.92/100 19,784
O st&dd otate =2 FH(=eEA)
30,000,000 = 98.92/100 29,676
O &M AMENS =2 U (F2UEOH)
30,000,000 = 98.92/100 29,676
O &Y oiXAtel 0tmorS =2 ol (Fo
o) 40,000,000& * 98.92/10 39,568
O StEH WOI0tS =2 HUI(F2UEOH)
10,000,000% * 98.92/100 9,892
O &&= de 84X (F2UEN)
35,000,000 * 98.92/100 34,622
O AptH &= SEMA HiAlE FHI(F2E
o) 20,000,000 = 98.92/100 19,784
O &dH HEWS Jte 2 HE Jul(FE
o) 20,000,000& = 98.92/100 19,784
O &dHs 108 0t #EY Ax(F2
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O s 138 Ot 2t A4
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O 258 UAsdqd=2Y 88 £X
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O HMsS UiXiote 223 2 & =4 1I:II
25,000,000& * 98.92/10 24,730
O M= UiXiote €H =4
10,000,000% * 98.92/100 9,892
O &=+ & otet =5 A
30,000,000% * 98.92/100 29,676
O &8s 412 22202 &5 2
10,000,000 * 98.92/10 9,892
O 2tEs ) SUHEX & dMge=z FHI(F
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O MES Z0l2Z=x & 2 AX(FUE
) 30,000,000 * 98.92/100 29,676
O s WSOHS =2 JUI(F2UEOH)
5,000,000& * 98.92/100 4,946
O F&& H0ts o2 =2 X (=&
) 15,000,000 * 98.92/100 14,838
O F&s S2Z0t2 =2 M X (= &0
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O FNE B 542 Jyl 2 U4
20,000,000 = 98.92/100 19,784
Odgs 38 UWsits =2 &X & o+
E&(F2EA) 30,000,000 = 98.92/100 29,676
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10,000,000 * 98.92/100 9,892
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25,000,000 * 98.92/100 24,730
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O Sitg BIE 023 A
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O ActH E2e =5 Otz A=
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